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AR H | i IR 500~ 1000~ [1,500~  [2.000~ R
SO0 1,000k | 1,500k 5| 2,000k 5% | 2,500 5 25008L£
BRI 177 177 14 - 5 6 26 42 80
EF- A 29 29 2 - 1 - 7 5 15
aR 85 85 6 - 4 3 8 21 36
SRALET 2 2 1 - - - - 1 -
= hnEr 5 5 - - - - - 2 3
JIIiDET 10 10 4 - - 1 - 3 2
£IRET 3 3 - - - - 1 - 2
J\EEHET 5 5 - - - 2 3 - 1
B JIIET 3 3 - - - - - 2 2
E=]IES) - - - - - - - - -
[il=tig 17 17 1 - - - 3 3 10
EHHSDRIRY 18 18 - - - - 4 5 9
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| (SHITEE)
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'y E 9 <a5%§s§é§%<> zot | mmmEn
EAE | HAE [EAE | EAD | BAS [ FEAS | FEAE [ EAS | EAB
AR RAERT - - 13 15 1 1 - I 9
HRTAT AT 150 172 1,101 1,293 110 122 62 78 1,764
EF- 4 13 13 174 178 26 26 25 25 1,126
R 104 122 527 657 33 38 33 47 414
IRARET 21 23 66 107 24 26 - - 67 86 37 51 - - 8
= nEy 2 2 45 45 6 7 5 6 40 45 4 5 2 3 12
JIIiDET - - 67 72 1 2 5 5 64 68 15 15 2 3 30
+RET - - 19 19 3 3 2 2 14 14 6 6 - - 16
J\EEE] 1 1 36 37 - - 3 7 34 35 42 44 - - 53
B)I18T 5 6 30 37 3 3 - - 30 30 7 7 - - 105
AR - - 10 10 6 6 - - 4 4 - - - - -
fEIE BT 4 5 127 131 8 11 - - 119 122 2 2 - - -
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BN 276
ERMET 78
"RH 119
IRALET 17
= hn#r 3
JIDET 10
£RET 7
J\EEHET 15
B JIIET 1
E4=MIES) 0
fEEET 26
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